# SOME INTEGRAL INEQUALITIES, WITH APPLICATION TO BOUNDS FOR MOMENTS OF A DISTRIBUTION 

SANJA VAROŠANEC ${ }^{1}$ and JOSIP PEČARIĆ ${ }^{2}$

(Received 27 December 1994; revised 4 April 1995)

## 1. Introduction

The resolution of many problems in probability depends on being able to provide sufficiently good upper or lower bounds to certain moments of distributions. A striking example from the literature of a result that can offer such bounds was given by Polya over sixty years ago as the following theorem (see [7, Vol. II, p. 144] and [7, Vol. I, p. 94]).

THEOREM A (Polya's inequalities)
(a) Let $f:[0,1] \rightarrow \mathbb{R}$ be a nonnegative and increasing function. If $a$ and $b$ are nonnegative real numbers, then

$$
\begin{equation*}
\left(\int_{0}^{1} x^{a+b} f(x) d x\right)^{2} \geq\left(1-\left(\frac{a-b}{a+b+1}\right)^{2}\right) \int_{0}^{1} x^{2 a} f(x) d x \int_{0}^{1} x^{2 b} f(x) d x \tag{1}
\end{equation*}
$$

(b) Let $f:[0, \infty) \rightarrow \mathbb{R}$ be a nonnegative and decreasing function. If $a$ and $b$ are nonnegative real numbers, then

$$
\begin{equation*}
\left(\int_{0}^{\infty} x^{a+b} f(x) d x\right)^{2} \leq\left(1-\left(\frac{a-b}{a+b+1}\right)^{2}\right) \int_{0}^{\infty} x^{2 a} f(x) d x \int_{0}^{\infty} x^{2 b} f(x) d x \tag{2}
\end{equation*}
$$

if all the integrals exist.
The existence of the integrals in either part of Theorem A implies that $f$ is integrable, so that it can be scaled to give $\int f(x) d x=1$. Relations (1) and (2) are

[^0]homogeneous in $f$, so that without loss of generality (1) or (2) can be assumed to hold with $\int f(x) d x=1$. Since $f$ is nonnegative, we can thus interpret it as being a probability density. A remarkable feature of Polya's result is that in the two most natural settings, $f$ defined on $[0,1]$ and $(0, \infty)$, the directions of the inequality are opposite.

The following generalization of this result, involving a discrete distribution $\left(p_{i}\right)_{1}^{n}$, was given by the authors in [5].

THEOREM 1. Let $f:[a, b] \rightarrow \mathbb{R}$ bea nonnegative and nondecreasingfunction, and let $x_{i}:[a, b] \rightarrow \mathbb{R}, i=1, \ldots, n$, be nonnegative increasing functions with a continuous first derivative. If $p_{i}, i=1, \ldots, n$, are positive real numbers such that $\sum_{i=1}^{n} p_{i}=1$ then

$$
\begin{equation*}
\int_{a}^{b}\left(\prod_{i=1}^{n} x_{i}^{p_{i}}(t)\right)^{\prime} f(t) d t \geq \prod_{i=1}^{n}\left(\int_{a}^{b} x_{i}^{\prime}(t) f(t) d t\right)^{p_{i}} \tag{3}
\end{equation*}
$$

If $x_{i}(a)=0$ for all $i=1, \ldots, n$, and if $f$ is a nonincreasing function, then the reverse inequality to (3) holds.

The aim of this paper is to present a result similar to (3) for higher-order derivatives. This has applications to moments, which are considered in Section 3.

## 2. Main results

THEOREM 2. Let $f, x_{i}:[a, b] \rightarrow \mathbb{R}, i=1, \ldots, m$, be nonnegative functions with $a$ continuous derivative of the $n$-th order, $n \geq 2$, which satisfy conditions:

$$
\begin{aligned}
& 1^{\circ} \quad(-1)^{n} f^{(n)}(t) \geq 0 \text { and } x_{i}^{(n)}(t) \geq 0 \text { for all } t \in[a, b], i=1, \ldots, m, \\
& 2^{\circ} \quad(-1)^{k} f^{(k)}(b) \geq 0 \text { for } k=0,1, \ldots, n-1, \\
& 3^{\circ} \quad x_{i}^{(k)}(a)=0 \text { and } x_{i}^{(k)}(b) \geq 0 \text { for } k=0,1, \ldots, n-1 \text { and } i=1, \ldots, m .
\end{aligned}
$$

If $p_{i}, i=1, \ldots, m$, are positive numbers such that $\sum_{i=1}^{m} p_{i}=1$, then

$$
\begin{equation*}
\int_{a}^{b}\left(\prod_{i=1}^{m} x_{i}^{p_{i}}(t)\right)^{(n)} f(t) d t \leq \prod_{i=1}^{m}\left(\int_{a}^{b} x_{i}^{(n)}(t) f(t) d t\right)^{p_{i}}+\Delta \tag{4}
\end{equation*}
$$

where

$$
\Delta=\left.\sum_{k=0}^{n-2}(-1)^{k} f^{(k)}(t)\left(\left(\prod_{i=1}^{m} x_{i}^{p_{i}}(t)\right)^{(n-k-1)}-\prod_{i=1}^{m}\left(x_{i}^{(n-k-1)}(t)\right)^{p_{i}}\right)\right|_{t=b} .
$$

PROOF. Using integration by parts and Hölder's inequality for integrals we obtain

$$
\begin{align*}
& \int_{a}^{b}\left(\prod_{i=1}^{m} x_{i}^{p_{i}}(t)\right)^{(n)} f(t) d t \\
& =\left.\sum_{k=0}^{n-1}(-1)^{k} f^{(k)}(t)\left(\prod_{i=1}^{m} x_{i}^{p_{i}}(t)\right)^{(n-k-1)}\right|_{t=b}+(-1)^{n} \int_{a}^{b} \prod_{i=1}^{m} x_{i}^{p_{i}}(t) f^{(n)}(t) d t \\
& \quad \leq\left.\sum_{k=0}^{n-1}(-1)^{k} f^{(k)}(t)\left(\prod_{i=1}^{m} x_{i}^{p_{i}}(t)\right)^{(n-k-1)}\right|_{t=b}+\prod_{i=1}^{m}\left(\int_{a}^{b} x_{i}(t)(-1)^{n} f^{(n)}(t) d t\right)^{p_{i}} \\
& =\Delta+\left.\sum_{k=0}^{n-1}(-1)^{k} f^{(k)}(t) \prod_{i=1}^{m}\left(x_{i}^{(n-k-1)}(t)\right)^{p_{i}}\right|_{t=b} ^{m}+\prod_{i=1}^{b}\left(\int_{a}^{b} x_{i}(t)(-1)^{n} f^{(n)}(t) d t\right)^{p_{i}} . \tag{5}
\end{align*}
$$

Now applying Hölder's inequality for the discrete case we have that the last expression in (5) is less than or equal to

$$
\begin{aligned}
\Delta+ & \prod_{i=1}^{m}\left(\left.\sum_{k=0}^{n-1}(-1)^{k} f^{(k)}(t) x_{i}^{(n-k-1)}(t)\right|_{t=b}+\int_{a}^{b} x_{i}(t)(-1)^{n} f^{(n)}(t) d t\right)^{p_{i}} \\
& =\Delta+\prod_{i=1}^{m}\left(\int_{a}^{b} x_{i}^{(n)}(t) f(t) d t\right)^{p_{i}}
\end{aligned}
$$

REMARK 1. If we deal with the condition " $f^{(k)}(a)=0$ for all $k=0, \ldots, n-1$ " instead of " $x_{i}^{(k)}(a)=0$ " then the same result holds.

In the remainder of this paper we assume that $p_{i}, i=1, \ldots, m$, are positive real numbers such that $\sum_{i=1}^{m} p_{i}=1$, that is, positive probabilities.

## COROLLARY 1. Under the assumptions of Theorem 2 and if

$$
\begin{equation*}
x_{i}^{(k)}(b)=x_{j}^{(k)}(b) \quad \text { for all } i, j \in\{1, \ldots, m\} \text { and } k \in\{0,1, \ldots, n-2\} \tag{6}
\end{equation*}
$$

then

$$
\begin{equation*}
\int_{a}^{b}\left(\prod_{i=1}^{m} x_{i}^{p_{i}}(t)\right)^{(n)} f(t) d t \leq \prod_{i=1}^{m}\left(\int_{a}^{b} x_{i}^{(n)}(t) f(t) d t\right)^{p_{i}} \tag{7}
\end{equation*}
$$

Proof. We only need to show that $\Delta=0$. Write $B_{k}=x_{i}^{(k)}(b)$ for $k=0,1, \ldots, n-1$. It is easily seen that $\prod_{i=1}^{m}\left(x_{i}^{(k)}(b)\right)^{p_{i}}=B_{k}$. So, it is enough to prove that

$$
\begin{equation*}
\left(\prod_{i=1}^{m} x_{i}^{p_{i}}(t)\right)^{(k)}=B_{k} \quad \text { for } k=0,1, \ldots, n-1 \tag{8}
\end{equation*}
$$

Let $G$ and $C$ be defined by

$$
G(t)=\prod_{i=1}^{m} x_{i}^{p_{i}}(t) \quad \text { and } \quad C(t)=\sum_{i=1}^{m} p_{i} \frac{x_{i}^{\prime}(t)}{x_{i}(t)}
$$

It is obvious that $G(b)=B_{0}, C(b)=B_{1} / B_{0}$ and $G^{\prime}(t)=G(t) \cdot C(t)$. We first compute the higher order derivative of $C(t)$. If $y_{i}(t)=x_{i}^{\prime}(t) / x_{i}(t)$, then using the Leibniz rule we get

$$
y_{i}^{(k)}(t)=\frac{1}{x_{i}(t)}\left(x_{i}^{(k+1)}(t)-\sum_{j=0}^{k-1}\binom{k}{j} y_{i}^{(j)}(t) x_{i}^{(k-j)}(t)\right)
$$

and so

$$
\begin{align*}
C^{(k)}(b) & =\sum_{i=1}^{m} p_{i} y_{i}^{(k)}(b) \\
& =\frac{1}{x_{i}(b)}\left(\sum_{i=1}^{m} p_{i} x_{i}^{(k+1)}(b)-\sum_{i=1}^{m} \sum_{j=0}^{k-1}\binom{k}{j} y_{i}^{(j)}(b) \cdot p_{i} x_{i}^{(k-j)}(b)\right) \\
& =\frac{1}{B_{0}}\left(B_{k+1}-\sum_{j=0}^{k-1}\binom{k}{j} C^{(j)}(b) B_{k-j}\right) \tag{9}
\end{align*}
$$

for any $k \in N$.
The proof of (5) is by induction on $k$. For $k=1$ we have $G^{\prime}(b)=G(b) \cdot C(b)=$ $B_{0} \cdot B_{1} / B_{0}=B_{1}$. Suppose that $G^{(j)}(b)=B_{j}$ for $j<k$. Then using the Leibniz rule and (9) we get

$$
\begin{aligned}
G^{(k)}(b)= & \sum_{j=0}^{k-1}\binom{k-1}{j} G^{(j)}(b) \cdot C^{(k-1-j)}(b)=\sum_{j=0}^{k-1}\binom{k-1}{j} B_{j} \cdot C^{(k-j-1)}(b) \\
= & B_{0}\left(\frac{1}{B_{0}}\left(B_{k}-\sum_{j=0}^{k-2}\binom{k-1}{j} C^{j}(b) B_{k-1-j}\right)\right) \\
& +\sum_{j=1}^{k-1}\binom{k-1}{j} B_{j} \cdot C^{(k-j-1)}(b)=B_{k}
\end{aligned}
$$

and the corollary follows.

REMARK 2. In the corollary we deal with $n \geq 2$. In the case when $n=1$ we don't need the assumptions (6). In fact, that case is discussed in Theorem 1.

THEOREM 3. Let $f, x_{i}:[a, b] \rightarrow \mathbb{R}, i=1, \ldots, m$, be nonnegative functions with $a$ continuous derivative of the $n$-th order, $n \geq 2$, which satisfy conditions

$$
\begin{array}{ll}
1^{\circ} & (-1)^{n} f^{(n)}(t) \leq 0, x_{i}^{(n)}(t) \geq 0, f(b)>0 \text { for all } t \in[a, b], i=1, \ldots, m, \\
2^{\circ} & (-1)^{k} f^{(k)}(b) \leq 0 \text { for every } k=1, \ldots, n-1 \\
3^{\circ} & x_{i}^{(k)}(b) \geq 0 \text { and } x_{i}^{(k)}(a)=0 \text { for } i=1, \ldots, m \text { and } k=0,1, \ldots, n-1 .
\end{array}
$$

Then the inequality (4) is reversed.
This follows by the same method as in the proof of Theorem 2. The only difference is in using Popoviciu's inequality instead of Hölder's inequality for the discrete case.

We recall that Popoviciu's inequality states that

$$
\sum_{i=1}^{m} w_{i} a_{i 1} \ldots a_{i n} \geq \prod_{j=1}^{n}\left(\sum_{i=1}^{m} w_{i} a_{i j}^{1 / p_{j}}\right)^{p_{j}}
$$

where $w_{1}>0, w_{2}, \ldots, w_{m} \leq 0, a_{i j} \geq 0$ for $i=1, \ldots, m, j=1, \ldots, n, p_{i}>0$ such that $\sum_{i=1}^{n} p_{i}=1$ and $\sum_{i=1}^{m} w_{i} a_{i j}^{1 / p_{i}} \geq 0$ for $j=1, \ldots, n$. For detail on this inequality see [3, p. 118].

## COROLLARY 2. Under the assumptions of Theorem 3 and the condition

$$
x_{i}^{(k)}(b)=x_{j}^{(k)}(b) \quad \text { for all } i, j \in\{1, \ldots, m\} \text { and } k \in\{0,1, \ldots, n-1\}
$$

we have that

$$
\begin{equation*}
\int_{a}^{b}\left(\prod_{i=1}^{m} x_{i}^{p_{i}}(t)\right)^{(n)} f(t) d t \geq \prod_{i=1}^{m}\left(\int_{a}^{b} x_{i}^{(n)}(t) f(t) d t\right)^{p_{i}} \tag{10}
\end{equation*}
$$

REMARK 3. For $n=2$ we have

$$
\begin{aligned}
\Delta & =f(b)\left(\left(\prod_{i=1}^{m} x_{i}^{p_{i}}(b)\right)^{\prime}-\prod_{i=1}^{m}\left(x_{i}^{\prime}(b)\right)^{p_{i}}\right. \\
& =f(b)\left(\sum_{i=1}^{m} p_{i} \frac{x_{i}^{\prime}(b)}{x_{i}(b)}-\prod_{i=1}^{m}\left(\frac{x_{i}^{\prime}(b)}{x_{i}(b)}\right)^{p_{i}}\right) \prod_{i=1}^{m} x_{i}^{p_{i}}(b) .
\end{aligned}
$$

Using the well-known inequality between arithmetic and geometric means we conclude that $\Delta$ is a nonnegative number. So under the assumptions of Theorem 3 we have

$$
\int_{a}^{b}\left(\prod_{i=1}^{m} x_{i}^{p_{i}}(t)\right)^{\prime \prime} f(t) d t \geq \prod_{i=1}^{m}\left(\int_{a}^{b} x_{i}^{\prime \prime}(t) f(t) d t\right)^{p_{i}}
$$

where $f$ is a nondecreasing concave function, that is, we have inequality (10) but without equality of $x_{i}, x_{i}^{\prime}$ on $t=b$.

THEOREM 4. Let $f, x_{i}:[a, b] \rightarrow \mathbb{R}, i=1, \ldots, m$, be nonnegative functions with a continuous derivative of the $n$-th order such that $(-1)^{n-1} f^{(n)},\left(\prod_{i=1}^{m} x_{i}^{p_{i}}\right)^{(n)}$ and $x_{i}^{(n)}, i=1, \ldots, m$, are nonnegative continuous functions. Then

$$
\int_{a}^{b}\left(\prod_{i=1}^{m}\left(x_{i}^{p_{i}}(t)\right)^{(n)} f(t) d t \geq \prod_{i=1}^{m}\left(\int_{a}^{b} x_{i}^{(n)}(t) f(t) d t\right)^{p_{i}}+\Delta_{1}\right.
$$

where

$$
\Delta_{1}=\left.\sum_{k=0}^{n-1}\left((-1)^{n-k-1} f^{(n-k-1)}(t)\left(\sum_{i=1}^{m} p_{i} x_{i}^{(k)}(t)-\left(\prod_{i=1}^{m} x_{i}^{p_{i}}(t)\right)^{(k)}\right)\right)\right|_{a} ^{b}
$$

Proof. Using the arithmetic-geometric mean inequality we get

$$
\begin{aligned}
\prod_{i=1}^{m} & \left(\int_{a}^{b} x_{i}^{(n)}(t) f(t) d t\right)^{p_{i}} \\
\quad \leq & \sum_{i=1}^{m} p_{i} \int_{a}^{b} x_{i}^{(n)}(t) f(t) d t \\
= & \left.\sum_{k=0}^{n-1}\left((-1)^{n-k-1} f^{(n-k-1)}(t)\left(\sum_{i=1}^{m} p_{i} x_{i}^{(k)}(t)\right)\right)\right|_{a} ^{b}+(-1)^{n} \int_{a}^{b}\left(\sum_{i=1}^{m} p_{i} x_{i}(t)\right) \cdot f^{(n)}(t) d t \\
\leq & \left.\sum_{k=0}^{n-1}\left((-1)^{n-k-1} f^{(n-k-1)}(t)\left(\sum_{i=1}^{m} p_{i} x_{i}^{(k)}(t)\right)\right)\right|_{a} ^{b}+(-1)^{n} \int_{a}^{b}\left(\prod_{i=1}^{m}\left(x_{i}(t)\right)^{p_{i}} f^{(n)}(t) d t\right. \\
= & \left.\sum_{k=0}^{n-1}\left((-1)^{n-k-1} f^{(n-k-1)}(t)\left(\sum_{i=1}^{m} p_{i} x_{i}^{(k)}(t)\right)\right)\right|_{a} ^{b} \\
& -\left.\sum_{k=0}^{n-1}\left((-1)^{n-k-1} f^{(n-k-1)}(t)\left(\prod_{i=1}^{m} x_{i}^{p_{i}}(t)\right)^{(k)}\right)\right|_{a} ^{b}+\int_{a}^{b}\left(\prod_{i=1}^{m} x_{i}^{p_{i}}(t)\right)^{(n)} f(t) d t \\
= & \Delta_{1}+\int_{a}^{b}\left(\prod_{i=1}^{m} x_{i}^{p_{i}}(t)\right)^{(n)} f(t) d t .
\end{aligned}
$$

COROLLARY 3. Under the assumptions of Theorem 4 and the conditions

$$
x_{i}^{(k)}(a)=x_{j}^{(k)}(a) \quad \text { and } \quad x_{i}^{(k)}(b)=x_{j}^{(k)}(b)
$$

for all $i, j \in\{1,2, \ldots, m\}$ and $k \in\{0,1, \ldots, n-1\}$, inequality (10) holds.

## 3. Applications

Let $Q:[0, \alpha] \rightarrow[0,1]$ be a nondecreasing function such that $Q(0)=0$ and $Q(\alpha)=1$. Then the $r$-th moment of $Q$ is defined by

$$
v_{r}=\int_{0}^{\alpha} x^{r} d Q(x)
$$

We can apply results of the previous section to derive some inequalities for $\nu_{r}$. In the remainder of this section we assume $Q$ and $\nu_{r}$ to be defined as above.

THEOREM 5. If $Q$ has a continuous derivative of the $(n+1)$-th order, $n \geq 2$, such that

$$
\begin{align*}
& 1^{\circ}(-1)^{n} Q^{(n+1)}(t) \leq 0 \text { for any } t \in(0, \alpha) \\
& 2^{\circ} \quad(-1)^{k} Q^{(k+1)}(\alpha) \leq 0 \text { for every } k=1, \ldots, n-1 \text { and } Q^{\prime}(\alpha)>0 \text {, then } \\
& \qquad v_{a_{1}+\cdots+a_{m}} \geq \frac{\prod_{i=1}^{m}\left(\left(a_{i} / p_{i}+n\right)^{[n]}\right)^{p_{i}}}{\left(\sum_{i=1}^{m} a_{i}+n\right)^{[n]}} \prod_{i=1}^{m}\left(v_{a_{i} / p_{i}}\right)^{p_{i}}+\Delta_{2} \tag{11}
\end{align*}
$$

where

$$
\Delta_{2}=\sum_{k=0}^{n-2}(-1)^{k} Q^{(k+1)}(\alpha) \alpha^{\sum_{i=1}^{m} a_{i}+k+1}\left(\left(\sum_{i=1}^{m} a_{i}+n\right)^{[n-k-1]}-\prod_{i=1}^{m}\left(\left(a_{i} / p_{i}+n\right)^{[n-k-1]}\right)^{p_{i}}\right)
$$

and $a^{[k]} \stackrel{\text { def }}{=} a(a-1) \cdot \ldots \cdot(a-k+1)$ and $a^{[0]} \stackrel{\text { def }}{=} 1$.
Proof. Inequality (11) is a consequence of Theorem 3 when we set $x_{i}(x)=x^{a_{i} / p_{i}+n}$, $a_{i} / p_{i}>-1$, for $i=1, \ldots, m$.

THEOREM 6. If $\alpha=1$ and $Q$ has a continuous derivative of the $(n+1)$-th order such that $(-1)^{n-1} Q^{(n+1)}$ is nonnegative, then

$$
\begin{equation*}
v_{a_{1}+\cdots+a_{m}} \geq \frac{\prod_{i=1}^{m}\left(\left(a_{i} / p_{i}+n\right)^{[n]}\right)^{p_{i}}}{\left(\sum_{i=1}^{m} a_{i}+n\right)^{[n]}} \prod_{i=1}^{m}\left(v_{a_{i} / p_{i}}\right)^{p_{i}}+\Delta_{3}, \tag{12}
\end{equation*}
$$

where

$$
\Delta_{3}= \begin{cases}0, & \text { for } n=1,2 \\ \sum_{k=2}^{n-1}(-1)^{n-k-1} Q^{(n-k)}(1)\left(\sum_{i=1}^{m} p_{i}\left(a_{i} / p_{i}+n\right)^{[k]}\right. & \\ \left.-\left(\sum_{i=1}^{m} a_{i}+n\right)^{[k]}\right), & \text { for } n \geq 3\end{cases}
$$

If $(-1)^{n-k-1} Q^{(n-k)}(1) \geq 0$ for $k=2, \ldots, n-1, n \geq 3$, then

$$
\begin{equation*}
v_{a_{1}+\cdots+a_{m}} \geq \frac{\prod_{i=1}^{m}\left(\left(a_{i} / p_{i}+n\right)^{[n]}\right)^{p_{i}}}{\left(\sum_{i=1}^{m} a_{i}+n\right)^{[n]}} \prod_{i=1}^{m}\left(v_{a_{i} / p_{i}}\right)^{p_{i}} \tag{13}
\end{equation*}
$$

Proof. Inequality (12) is a consequence of Theorem 4 when $x_{i}(x)=x^{a_{i} / p_{i}+n}, a_{i} / p_{i}>$ -1 , for $i=1, \ldots, m$. If we prove that $\Delta_{3} \geq 0$, the validity of inequality (13) follows. For this we have

$$
\begin{aligned}
\sum_{i=1}^{m} p_{i}\left(a_{i} / p_{i}+n\right)^{[k]}-\left(\sum_{i=1}^{m} a_{i}+n\right)^{[k]} & =\sum_{i=1}^{m} p_{i}\left(\sum_{j=1}^{k} N_{j}\left(a_{i} / p_{i}\right)^{j}\right)-\sum_{j=1}^{k} N_{j}\left(\sum_{i=1}^{m} a_{i}\right)^{j} \\
& =\sum_{j=1}^{k} N_{j} g_{j}\left(p_{1}, \ldots, p_{m}\right)
\end{aligned}
$$

where $N_{j}, j=1, \ldots, k$, are positive numbers and $g_{j}\left(p_{1}, \ldots, p_{m}\right)=\sum_{i=1}^{m} a_{i}^{j} / p_{i}^{j-1}-$ $\left(\sum_{i=1}^{m} a_{i}\right)^{j}$. It is easy to see that $g_{1}=0$ and $g_{j}\left(p_{1}, \ldots, p_{m}\right) \geq 0$ for $j=1, \ldots, k$, so $\Delta_{3} \geq 0$.

REMARK 4. The result for $n=2$ was discussed in [8].
REMARK 5. Let $f_{n}$ be a function defined by

$$
f_{n}(r)=\ln \left(\binom{r+n}{n} v_{r}\right)
$$

where $Q$ from the definition of $\nu_{r}$ satisfies all the assumptions of Theorem 6 , that is, inequality (13) applies. Then $f_{n}$ is a concave function and the following corollary holds.

COROLLARY 4. (a) If $p>q>r$, then

$$
\left(\binom{q+n}{n} v_{q}\right)^{p-r} \geq\left(\binom{r+n}{n} v_{r}\right)^{p-q}\left(\binom{p+n}{n} v_{p}\right)^{q-r}
$$

(b) If $p \geq q, r \geq s i p>r, q>s$, then

$$
\begin{equation*}
\left(\frac{\binom{p+n}{n} \nu_{p}}{\binom{r+n}{n} \nu_{r}}\right)^{1 / p-r} \leq\left(\frac{\binom{q+n}{n} v_{q}}{\binom{s+n}{n} \nu_{s}}\right)^{1 / q-s} \tag{14}
\end{equation*}
$$

(c) If $r \geq 0, r_{1}, \ldots, r_{m}>0$, then

$$
\begin{equation*}
\left(\binom{r+n}{n} v_{r}\right)^{m-1}\binom{r_{1}+\ldots+r_{m}+r+n}{n} v_{r_{1}+\cdots+r_{m}+r} \leq \prod_{i=1}^{m}\binom{r_{i}+r+n}{n} v_{r_{i}+r} \tag{15}
\end{equation*}
$$

(d) If $q>s>r>p, p \leq t \leq q$, then

$$
\left(\binom{p+n}{n} v_{p}\right)^{q-t / q-p}\left(\binom{q+n}{n} v_{q}\right)^{t-p / q-p} \leq\left(\binom{r+n}{n} v_{r}\right)^{s-t / s-r}\left(\binom{s+n}{n} v_{s}\right)^{t-r / s-r}
$$

(e) If $p>q>0$ then

$$
\left(\binom{p+n}{n} v_{p}\right)^{1 / p} \leq\left(\binom{q+n}{n} v_{q}\right)^{1 / q}
$$

PROOF. (a) This is a consequence of inequality

$$
\left|\begin{array}{ccc}
H(p) & H(q) & H(r) \\
p & q & r \\
1 & 1 & 1
\end{array}\right| \leq 0 \quad \text { for } p>q>r
$$

for a concave function $H$ (see [3, p. 1]).
(b) For any concave function $H$ the inequality

$$
\frac{H(p)-H(r)}{p-r} \leq \frac{H(q)-H(s)}{q-s}
$$

holds for $p \geq q$ and $r \geq s$ (see [3, p. 2]). Therefore (14) is a simple consequence of the previous inequality if we set $H=f_{1}$.
(c) Setting $r=s, p=r_{1}+\cdots+r_{m}+r, q=r_{i}+r$ in (14) we obtain

$$
\left(\frac{\binom{\left(r_{1}+\cdots+r_{m}+r+n\right.}{n} \nu_{r_{1}+\ldots+r_{m}+r}}{\binom{r+n}{n} \nu_{r}}\right)^{r_{i} /\left(r_{1}+\cdots+r_{m}\right)} \leq \frac{\binom{r_{i}+r+n}{n} \nu_{r_{i}+r}}{\binom{r+n}{n} \nu_{r}}
$$

On multiplying together all these inequalities for $i=1, \ldots, m$ we obtain (15).
(d) This is a consequence of Narumi's inequality

$$
\frac{q-t}{q-p} H(p)+\frac{t-p}{q-p} H(q) \leq \frac{s-t}{s-r} H(r)+\frac{t-r}{s-r} H(s)
$$

(see [4]), where $H$ is a concave function and $q>s>r>p, p \leq t \leq q$.
(e) Set $r=s=0$ in (14) and use the fact that $\nu_{0}=1$.

A simple consequence of Theorem 2 is the following result.

THEOREM 7. If $Q$ has a derivative of the $(n+1)$-th order such that
$1^{\circ}(-1)^{n} Q^{(n+1)}(t) \geq 0$ for $t \in(0, \alpha)$,
$2^{\circ}(-1)^{k} Q^{(k+1)}(\alpha) \geq 0$ for every $k=1, \ldots, n-1$ and $Q^{\prime}(\alpha)>0$, then

$$
\begin{equation*}
v_{a_{1}+\cdots+a_{m}} \leq \frac{\prod_{i=1}^{m}\left(\left(a_{i} / p_{i}+n\right)^{[n]}\right)^{p_{i}}}{\left(\sum_{i=1}^{m} a_{i}+n\right)^{[n]}} \prod_{i=1}^{m}\left(v_{a_{i} / p_{i}}\right)^{p_{i}}+\Delta_{2} \tag{16}
\end{equation*}
$$

REMARK 6. For $j=0, \ldots, k-1$, we have

$$
\sum_{i=1}^{m} a_{i}+(n-j)=\sum_{i=1}^{m} \frac{a_{i} / p_{i}+(n-j)}{p_{i}} \geq \prod_{i=1}^{m}\left(a_{i} / p_{i}+(n-j)\right)^{p_{i}}
$$

Multiplying these inequalities together for $j=0, \ldots, k-1$ we get

$$
\left(\sum_{i=1}^{m} a_{i}+n\right)^{[k]}-\prod_{i=1}^{m}\left(\left(a_{i} / p_{i}+n\right)^{[k]}\right)^{p_{i}} \geq 0
$$

for $k=0, \ldots, n-2$. So, if $Q$ satisfies the assumptions of Theorem $7, \Delta_{2}$ is nonnegative.

REMARK 7. In probability theory the $r$-th absolute moment is defined by

$$
v_{r}=\int_{0}^{\infty} x^{r} d Q(x)
$$

where the distribution function $Q:[0, \infty) \rightarrow[0,1]$ is a nondecreasing function such that $Q(0)=0$ and $\lim _{x \rightarrow \infty} Q(x)=1$. In that case, if $(-1)^{k-1} Q^{(k)}$ is a positive, continuous and decreasing function for $k=1,2, \ldots, n$, use of a similar method to the proof of Theorem 2 and the relation

$$
(r+1) \int_{0}^{\infty} x^{r} Q^{\prime}(x) d x=-\int_{0}^{\infty} x^{r+1} d Q^{\prime}(x)
$$

enables the inequality

$$
v_{a_{1}+\cdots+a_{m}} \leq \frac{\prod_{i=1}^{m}\left(\left(a_{i} / p_{i}+n\right)^{[n]}\right)^{p_{i}}}{\left(\sum_{i=1}^{m} a_{i}+n\right)^{[n]}} \prod_{i=1}^{m}\left(v_{a_{i} / p_{i}}\right)^{p_{i}}
$$

to be proved, where $v_{r}=\int_{0}^{\infty} x^{r} d Q(x)$. For more on this result see [1, 2 and 6].

## References

[1] P. R. Beesack, "Inequalities for absolute moments of a distribution: From Laplace to Von Mises", J. Math. Anal. Appl. 98 (1984) 435-457.
[2] D. S. Mitrinović and J. E. Pečarić, "Note on the Gauss-Winckler inequality", Anz. Österreich Akad. Wiss., Math.-Natur. Kl. 6 (1986) 89-92.
[3] D. S. Mitrinović, J. E. Pečarić and A. M. Fink, Classical and New Inequalities in Analysis (Kluwer, Dordrecht, 1993).
[4] S. Narumi, "On a generalized Gauss-Faber's inequality for integral", Japan. J. Math. 4 (1927) 33-39.
[5] J. Pečarić and S. Varošanec, A Generalization of Pólya's Inequalities, Inequalities and Applications (World Scientific, Singapore, 1994).
[6] J. Pečarić and S. Varošanec, "Remarks on Gauss-Winckler's and Stolarsky's inequalities", Utilitas Math. 48 (1995) 233-241.
[7] G. Polya and G. Szegö, Aufgaben und Lehrsätze aus der Analysis, Volume I and II (Springer, Berlin, 1954).
[8] S. Varošanec and J. Pečarić, "Gauss' and related inequalities", Z. Anal. Anwendungen 14 (1995) 175-183.


[^0]:    ${ }^{1}$ Department of Mathematics, University of Zagreb, Bijenička cesta 30, 41000 Zagreb, Croatia
    ${ }^{2}$ Faculty of Textile Technology, University of Zagreb, Pierottijeva 6, 41000 Zagreb, Croatia (C) Australian Mathematical Society, 1997, Serial-fee ċode 0334-2700/96

